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> gavote$undercount <- (gavote$ballots - gavote$votes)/gavote$ballots

> gavote$pergore <- (gavote$gore + gavote$bush)/gavote$votes
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> Imod <- lm(undercount ~ pergore + perAA, gavote)

> summary (lmod)
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> gavote$cpergore <- gavote$pergore - mean(gavote$pergore)
> gavote$cperAA <- gavote$perAA - mean(gavote$perAd)

> Imodi <- lm(undercount ~ cperAA + cpergorexrural + equip, gavote)
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> plot(lmodi)
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> wlmodi <- 1lm(undercount ~ cperAA + pergorexrural + equip, gavote, weights=ballots)
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AIC = —2maximumloglikelihood + 2p
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> dropl(model, test="F")
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> finalm <- lm(undercount ~ equip + econ + perAA + equip:econ + equip:perAA, gavote)
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> loglik <- function(p, y, n) {lchoose(n, y) + y*log(p) + (n - y)*log(l - p)}

# J000o0obooooboooo

> nloglik <- function(p, y, n) {loglik(p, y, n) - loglik(y/mn, y, n)}

# J00O0DOO0OO

> pr <- seq(0.05, 0.95, by=0.01)

# pU00OO0O0DOOOOO

> matplot(pr, cbind(nloglik(pr, 10, 25), nloglik(pr, 20, 50)), type="1",
xlab="p", ylab="log-likelihood")
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2log(L(0,)/L(0a)) = 2(1(8.,) — 1(6a))
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